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Beweisen

T - Grig . Teil

1.Methode: Primfaktorenzerlegung

In[8]:= Factorlnteger [{34756}]
Factor I nt eger [{6732}]
Qut[8]= {{{2, 2}, {8689, 1}}}

at[9o]= {{{2, 2}, {3, 2}, {11, 1}, {17, 1}}}
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2.Methode: Subtrahieren und Vertauschen

Behauptung: ggT[A, B] = ggT[A-B, B] fur: A > B
Beweis: 1) 1.D|A

2.D|B
3. furallec:wennc|Aundc|B
dannc|D
2) 1D|(A-B)
2.D|B
3.fur allec:wennc|(A-B)undc|B
dannc|D
3.) 1.

DIA —Dxx = A
DIB—D=xy =B

D«xx-Dxy=A-B
*xX-y)=A-B

2.D|B—D|B

3.
c|/A-B)—cxx =A-B
c|B —Ccxy =B

Cx*(X+y)=A

In[10]:= O ear [ggt 1]
ggtl[a_, b_1/; a>b :=Mdule[{},

Print ["Subtrahiere : a =", a, " b =", b]; ggtl[a-b, b]]
ggtlfa_, b_]/, b>a:-=

Modul e[{}, Print ["Vertausche: a =", a, " b =", bl; ggtl[b, al]
ggtlfa_, a_] :=a

In[14]:

ggt 1[34756, 6732]
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Subtrahiere : a = 34756 b = 6732

Subtrahiere : a = 28024 b = 6732

Subtrahiere : a = 21292 b = 6732

Subtrahiere : a = 14560 b = 6732

Subtrahiere : a = 7828 b = 6732

Vertausche: a = 1096 b = 6732

Subtrahiere : a = 6732 b 1096

Subtrahiere : a = 5636 b 1096

Subtrahiere : a = 4540 b = 1096

Subtrahiere : a = 3444 b = 1096

Subtrahiere : a = 2348 b = 1096

Subtrahiere : a = 1252 b = 1096

Vertausche: a = 156 b = 1096

Subtrahiere : a = 1096 b = 156

Subtrahiere : a = 940 b = 156

Subtrahiere : a = 784 b = 156

Subtrahiere : a = 628 b = 156

Subtrahiere : a = 472 b = 156

Subtrahiere : a = 316 b = 156

Subtrahiere : a = 160 b = 156

Vertausche: a = 4 b = 156

Subtrahiere : a = 156 b = 4

Subtrahiere : a = 152 b = 4

Subtrahiere : a = 148 b = 4

Subtrahiere : a = 144 b = 4

Subtrahiere : a = 140 b = 4

Subtrahiere : a = 136 b = 4

Subtrahiere : a = 132 b = 4

Subtrahiere : a = 128 b = 4

Subtrahiere : a = 124 b = 4

Subtrahiere : a = 120 b = 4

Subtrahiere : a = 116 b = 4

Subtrahiere : a = 112 b = 4

Subtrahiere : a = 108 b = 4
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Qut[14] =

Subt r ahi

Subt r ahi

Subt r ahi

Subt r ahi

Subt r ahi

Subt r ahi

Subt r ahi

Subt r ahi

Subt r ahi

Subt r ahi

Subt r ahi

Subt r ahi

Subt r ahi

Subt r ahi

Subt r ahi

Subt r ahi

Subt r ahi

Subt r ahi

Subt r ahi

Subt r ahi

Subt r ahi

Subt r ahi

Subt r ahi

Subt r ahi

Subt r ahi

4

ere :

ere :

ere :

ere :

ere :

ere :

ere :

ere :

ere :

ere :

ere :

ere :

ere :

ere :

ere :

ere :

ere :

ere :

ere :

ere :

ere :

ere :

ere :

ere :

ere :

104 b

100 b

96 b

92 b

88 b

84 b

80 b

76 b

72 b

68 b

64 b

60 b

56 b

52 b

48 b

44 b

40 b

36 b

32 b

28 b

24 b

20 b

16 b

12 b
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3.Methode: Euklidscher Algorithmus

Behauptung: ggT[A, B] = ggT[A — k«B, B]

Beweis: 1))

2.)

3)

In[15]:= O ear [ggt 2]

ggt2[a_, 0] :=

ggt2[a_, b_1/;
Modul e[ {}, Pr
ggt2[a_, b_1 /;

In[19]:

a = 34756 b = 67
a = 6732 b = 109
a = 1096 b = 156
a =156 b = 4

ut[19]= 4

1.D A

2.D|B

3. furallec:wennc|Aundc|B
dannc|D

1.D|(A — k«B)

2.D|B

3.furallec:wennc|(A - k«B)undc|B
dannc|D

1.D|B — D|(k«B)

D|A, D|(k+B) — D|(A — k «B)
2.D|B—D|B

3.CI|[(A-k«xB) — Cx«xx=A-k B
C|(k = B) — Cxy =
k « B

CxX+y)=A

a
a>b :=

int["a=", a " b =", b]; ggt2[b, Md[a, bl]]
a<b :=g9gt2[b, aj

ggt 2 [34756, 6732]
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